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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

Yá˚] Yy ( 5th Paper : International Trade & 
Development Economics ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) EıÃ[˝ %Á„Ã[˝Á„YÃ[˝ Âl˘‰y a«◊[˝W˝ÁÃ[˝ X›◊Tˆ◊ªRÙO ◊Eı ? Ac˜O 

Y“a„Ü ◊_≥QˆÁ„_Ã[˝ a]ÁW˝ÁX◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

Eı„]ÔÁ„VÓÁ„GÃ[˝ CYÃ[˝ %ÁÃ^Eı„Ã[˝Ã[˝ Y“\ˆÁ[˝ [˝ÓÁFÓÁ EıÃ[˝”X*  

   10 + 10 

 (F) V«◊ªRÙO ÂV„`Ã[˝ ]„W˝Ó T«ˆ_XÁ]…_Eı [˝ÓÃ^ YÁUÔEıÓ ÂEıX ÂVFÁ 

ÂVÃ^ TˆÁ Âc˜Eı∏JÙÁÃ[˝-C_›X Tˆ„√º¯Ã[˝ aÁc˜Á„^Ó [˝ÓÁFÓÁ EıÃ[˝”X* 

 (G) %Á]VÁ◊X £íı EıÁ„Eı [˝„_ ? %Á]VÁ◊X £íı %Á„Ã[˝Á„YÃ[˝ 

aïˆÁ[˝Ó %UÔÍX◊TˆEı Zı_ÁZı_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

%Á]VÁ◊X £íı %Á„Ã[˝ÁY EıÃ[˝ÁÃ[˝ Zı„_ %Á]VÁ◊XE ıTˆ 

V–[˝Ó◊ªRÙOÃ[˝ VÁ] ‚—˜Áa YÁ„[˝ — Ac˜O ]„]Ô Â]RÀÙOLÀ_ÁÃ[˝- 

E…ıªRÙOÁ\ˆÁa [˝ÓÁFÓÁ EıÃ[˝”X* 

 (H) [˝Ó◊N˛GTˆ V–„[˝ÓÃ[˝ a„Ü aÁ]Á◊LEı V–„[˝ÓÃ[˝ YÁUÔEıÓ ◊Eı ? 

aÁ]Á◊LEı V–„[˝ÓÃ[˝ È[˝◊`rÙÓm◊_ ◊Eı ◊Eı ? a]aÓÁm◊_„Eı 

=‰{F Eı„Ã[˝ aÁ]Á◊LEı V–„[˝ÓÃ[˝ \ˆÁÃ[˝aÁ]Ó ◊XW˝ÔÁÃ[˝S Yà˘◊Tˆ 

[˝ÓÁFÓÁ EıÃ[˝”X* 

 (I¯) Â_X„VX =• w¯ C [˝Á◊SLÓ =• „w¯Ã[˝ ]„W˝Ó YÁUÔEıÓ 

EıÃ[˝”X* [˝Á◊SLÓ HÁªRÙO◊Tˆ V…Ã[˝›EıÃ[˝„S %[˝]…_ÓÁÃ^„XÃ[˝ Y“\ˆÁ[˝ 

]Á`ÔÁ_-_ÁXÔÁÃ[˝ ◊ÿöˆ◊TˆÿöˆÁYEıTˆÁÃ[˝ V ◊rÙ„EıÁS ÂU„Eı [˝ÓÁFÓÁ 

EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) Y◊Ã[˝[˝Tˆ¤X`›_ ◊[˝◊X]Ã^ c˜ÁÃ[˝ EıÁ„Eı [˝„_ ? AÃ[˝ a«◊[˝W˝Á 

C %a«◊[˝W˝Ám◊_ ◊_F«X* 
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(F) [˝ÁLÁÃ[˝ [˝ÓUÔTˆÁ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? ◊Eı ◊Eı EıÁÃ[˝„S 

[˝ÁLÁÃ[˝ a«ú«ˆ\ˆÁ„[˝ EıÁL EıÃ[˝„Tˆ [˝ÓUÔ c˜Ã^ TˆÁ [˝ÓÁFÓÁ 

EıÃ[˝”X* 

(G) ^«N˛Ã[˝Ár—Ù›Ã^ Ã[˝ÁLÿëˆ[˝Ó[˝ÿöˆÁÃ[˝ a]aÓÁm◊_ [˝SÔXÁ EıÃ[˝”X* 

(H) %Á‹ôˆL¤Á◊TˆEı %UÔ\ˆÁâ¯Á„Ã[˝Ã[˝ EıÁ„LÃ[˝ AEı◊ªRÙO 

a]Á„_ÁªJÙXÁ]…_Eı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(I¯) %Á\ˆÓ‹ôˆÃ[˝›S @S EıÁ„Eı [˝„_ ? %Á\ˆÓ‹ôˆÃ[˝›S aÃ[˝EıÁ◊Ã[˝ 

@„SÃ[˝ ◊Eı ÂEıÁ„XÁ \ˆÁÃ[˝ [˝Á Â[˝ÁMıÁ %Á‰ªK˜ ? [˝ÓÁFÓÁ 

EıÃ[˝”X* 

(ªªJÙ˜) [˝Á◊SLÓªJÙy‘ ◊[˝„Ã[˝ÁW˝› ÿëˆÃ^e◊y‘Ã^ Ã[˝ÁLÿëˆ X›◊TˆÃ[˝ [˝ÓÁFÓÁ 

EıÃ[˝”X* 

(ªK˜) [˝ÓÃ^ ‚—˜Á„aÃ[˝ X›◊TˆÃ[˝ aÁc˜Á„^Ó ◊Eı\ˆÁ„[˝ %Á‹ôˆL¤Á◊TˆEı 

Â_X„V„XÃ[˝ \ˆÁÃ[˝aÁ]Óc˜›XTˆÁ V…Ã[˝ EıÃ[˝Á ^ÁÃ^ ? [˝ÓÁFÓÁ 

EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) ]…_ÓÁX«^ÁÃ^› EıÃ[˝ EıÁ„Eı [˝„_ ? %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(F) %[˝]…_ÓÁÃ^„XÃ[˝ a„Ü [˝Á◊SLÓ c˜Á„Ã[˝Ã[˝ a+EÔı [˝ÓÁFÓÁ 

EıÃ[˝”X* 

(G) %ZıÁÃ[˝ ÂÃ[˝FÁ ◊Eı ? 

(H) Special Drawing Right ÂEıÁXÀ aÁ„_ Y“[˝◊Tˆ¤Tˆ c˜Ã^ ? 

A◊ªRÙO ◊Eı %Á‹ôˆL¤Á◊TˆEı ]«V–Á ◊c˜„a„[˝ ÿëˆ›E ıTˆ ? 

(I¯) aÁ]Á◊LEı ◊XÃ[˝„Yl˘ ÂÃ[˝FÁ EıÁ„Eı [˝„_ ? Ac˜O ÂÃ[˝FÁÃ[˝ 

È[˝◊`rÙÓm◊_ ◊_F«X* 

(ªJÙ) aÃ[˝EıÁ◊Ã[˝ [˝Ó„Ã^Ã[˝ X›◊Tˆm◊_ ◊Eı ◊Eı ? 

(ªK˜) Y“TˆÓl˘ EıÃ[˝ A[˝e Y„Ã[˝Ál˘ Eı„Ã[˝Ã[˝ ]„W˝Ó YÁUÔEıÓ EıÃ[˝”X* 

(ªL˜) ◊Ã[˝EıÁ„QÔˆÁÃ[˝ T«ˆ_XÁ]…_Eı [˝ÓÃ^ Tˆ√º¯◊ªRÙOÃ[˝ %X«]ÁXm◊_ 

◊_F«X* 
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English Version 

1. Answer any two questions : 20 × 2 = 40 

(a) What is the benefit principle of canons of 

taxation ? In this circumstances explain the 

Lindhal's solution. Explain the effects of 

income tax on work effort. 10 + 10 

(b) Why do comparative cost differences occur 

between the two countries ? Explain with 

the help of Heckscher-Ohlin theory. 

(c) What do you mean by tariff ? Discuss the 

possible economic effects of tariff. Explain 

with the help of Metzler-Paradox that price 

of importable goods will decrease with the 

imposition of tariff.  

(d) What is the difference between private 

goods and public goods ? What are the 

characteristics of public goods ? Explain 

the process of determination of equilibrium 

of public goods indicating the problems. 

(e) Distinguish between balance of payment 

and balance of trade. Explain the effects of 

devaluation to correct the balance of trade 

deficit from the point of view of the 

elasticity or Marshall-Lerner absorption 

approach. 

2. Answer any three questions  : 12 × 3 = 36 

(a) What do you mean by flexible exchange  

rate ? Write down its merits and demerits. 

(b) What do you mean by market failure ? 

Explain the reasons for which the market 

fails to work systematically.  

(c) Explain the problems of federal finance.   

(d) Critically discuss the function of 

International Monetary Fund. 

(e) What do you mean by internal debt ? Is 

there any burden of internal public debt ? 

Explain. 

(f) Explain the built-in stabiliser as an anti-

business cycle policy. 

(g) Explain how the disequilibrium in BOP can 

be corrected by using expenditure reducing 

policy. 
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3. Answer any four questions  : 6 × 4 = 24 

(a) What do you mean by value added tax ? 

Discuss. 

(b) Discuss the relation between devaluation 

and terms of trade. 

(c) What is Offer curve ? 

(d) In which year 'Special Drawing Right' was 

introduced ? Is it recognised as an 

international currency ? 

(e) What do you mean by social indifference 

curve ? Write down its characteristics.  

(f) What are the principles of public 

expenditures ? 

(g) Distinguish between direct tax and indirect 

tax.  

(h) Write down the assumption of Ricardian 

comparative cost theory. 

    


